EARAROBEEIERT — 2 N— IBISH —F

2012828150 (k) 18mEA#3H

méﬁ $5%R4KLEOP B IR
[A&E4£] 1 7 22,000,000  ~ 23#%:7,700,000 3 7% :4,400,000 § 4 7% :2,200,000 5 % :1,100,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. t o6 | BRER 2:05.9 7-7-7-5 | 38.2| — 4 565 | JIIBE— (faHE)
1 | hoE=Fx "ol s =) oy | Sl
LRvYIN—FK FB:77—H% NIENTT—L4
¢ 7 | KEA 2:06.5 1-12-10-9 | 38.5 | — 10 | 507 | KE&EE (iaf)
28|15 2= bRA # 56.0 (3) -2) NS E T
Z:7A7% B:UXYKRL-—K BRR&M LxPr b T7—4
e t 5 | BRES 2:06.5 6-6-5-6 |38.8| — 1 447 | SIREELE ()\HE)
3l7]14| RZ—hT2r0 HS ] Eh G5 (o) | A
LZNAF2—)b BRIy twyr Ev2ie]
. . = FisEX : -4-3- = JIBIEAT (HAHE)
N . FRZIZEEL i | ok gy | TR = T |EEmE
AT MY BriE—XUN— HET7—L
e 3 N Ho7 | BIBYES 2:06.7 15-14-12-11{ 38.5 | — 8 515 | #iEfaZ (KH)
5/8l16 E¥/ITIL—=Y 56.0 (3/4) (7) | TlIEEE
R:TSAT7LX84 L B:2—LT7) 21— TREFHS
. AilEL :07. -1-1- . = JNSET (18)
6 4| XT7=7 4% -y (21017/20) B ° ff; s
L:¥r/07a4 BIYAFILAUX HET77— L
> R 4 g | EHEER 2:07.0 3-3-4-4 | 39.3| — 6 492 | EE (81E)
7/1|2|FTFYE 5.0 (75%) Cp |FIEES
L7V FFE2Te BT7IH PEPIS e s BN
HEYNEZOALYIL # 6 5%6’%*'% 2:(037).6 9-9-8-8 [39.8| — | 2 | 42 Ei?éﬁi' (#1E)
QO v sy F BRIy — 0 nm meE
o= BAE :07. —5-6- . - NIARE (GRFN)
hetLTdS547X i 8 A (21017/29) 5-5-6-7 | 40.2 15 (5;2) fv
L:r07x B4 ->Vxy b HE77—»4L
© = oo +2 RS :08. -8-9- . = JEF S (/)\HEK)
O— K&¥v=H> 20 Ea 288)1 8-8-9-10 | 40.1 11 (4;7) i1
R:TIU—b BLF Ta—Fr— FLTA T 57— I
o e [I=EEEPN : —16-15- — B (KH)
Ny TT =% 48 i 2(.10/82.>2 16-16-15-14| 39.6 12 (5_623) e
ity h—KR—a B:N1T74KITLZ BHR=H R BRSS
— 0 e FEZ : -13-16- — BERE (KH)
S S T LI ol (21018/25) 12-13-16-16| 39.8 14 <4+757) Lol
R:aNZ2aAx vy b B YFMF BHE EH
T 44 | FHET 2:08.7 2-2-2-3 | 41.3| — 9 483 | FREEAE (KH)
13)510) 1 =7 1~ 52.0 @/4) (o) |ECfms
L:TLyvANTr BATIIAFIER A R
5 e oo # o9 | HLER 2:08.8 13-10-13-13| 40.4 | — 16 | 486 |#BEZ (/1)
14|5|9 | 71 N=V 54.0 (172) 4g) | EAMIEL
R:TSAT7> X840 B:nNOxyt IS Eie ]
s e : 4 5 | SEER 2:09.2  [14-15-11-12| 41.0 | — 7| 494 | TELLBSE (/vb)
15/7|13| ¥~ A¥ Ik 58.0 @ (o) | KRS (B)
L:2FxvyB2—H¥Id—IK B:1x%/ 7%k MHEB RS
. . s 7 | REHA 2:09.4 10-10-14-15| 41.0 | — 13 | 464 |/ARE (FF0)
EH 5 f—t>ZX2-—-> 54.0 (3/4) (+6) Bk
LIVINATA—h— BIXRRFA7Y—> HET7—L
@ 1—F—@&BIEf
13=7r= 4,10,2,7,6,14,11,1,8,5,15,12,9,13,16,3
Aol=5r= 4,10,2,7,6,14,11,1,8,(5,9) ,15,12,16,13,3
3a—+— 4,10,7,2,14,6,11,8,1,15,13,16,9,5,3,12
43— — 4,7,10,2,11,14,6,8,15,1,16,13,9,3,5,12
[ RN
B OB 1 1,080M 714K 11-15 4,350 e & 6-8 6,260M 3= | 11-14-15 19,080M
% B 1 270M 11-14 570 | | # B 6-8 11,200 | | 3EE | 11-15-14 213,460
15 760M 14-15 1,820H B E 11-15 20,610M
14 1509 B H 11-15 31,590

ABICOVWTRDTEEERROODE. TR LIV,




